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Question 1-

@P")(Téﬁ ) %)Qfo?l-—ﬁ)(i) p*—12p+36=0

(i)) q* -7q-60=0

P <ﬁ;] @ \Q\S
() p>c
P<7~ (i) p<c
(m) p=>o¢
(Iv) p<g
=v) p=gqorrelationcan’t be
established,

https://t.me/mathbytarunsirmepl
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) Question 2-
P G T@5} i) p>—15p+54=0

(i) q* -11q+30=0

—

D >c7‘
P (i) p>c
L () p<o
M) p >0
(Iv) p<q
(v) p=gqorrelation can’t be
established,

https://t.me/mathbytarunsirmepl
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Question 3-

,D___)<_ } ._) @,)(+/ T) (i) p*+12p+35=0
(i) q*> -12q+32=0

P<Lg
= () p>o0
) p<oc
(i) p >c
(Iv) p<q
(v) p=gqorrelation can’t be
established,

https://t.me/mathbytarunsirmepl
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Question 4-
(i) p*+8p+16=0
(il) g -17q+66=0

() p>o0
—H) p<oc
(i) p >c
(Iv) p<q
(v) p=gqorrelation can’t be
established,

https://t.me/mathbytarunsirmepl
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m Question 5-

P“)("’ N - (-5 (i) p°+11p+30=0

w) (ii) o* +9q+20=0
A <9

_ ] < i) p>c
P 8 — L () p<o
(i) p >0

—v) p<q
(v) p=gqorrelation can’t be

established,
https://t.me/mathbytarunsirmepl
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Question 6- P, Q, and R can do the work 1n 81, 54, and 72 days, respectively.
They started working together , but A left 10 days before the work was

completed and C left 8 days before the work was completed. How long did it take
to do the total work?

T 6- P, Q 3T R 1 ol ShAST: 81, 54 3T 72 foAT H T Tohd &1 I/ Uk 1Y hH
AT ITE (G, AR A 5 8 90 8 § 10 o vect B¢ fam 3K ¢ 4 s g ad

8 fa U8t Big faa et i ! St | fehetT 9/ <

A. 25 days
22 days
29 days
18 days

B.
30
C.
D.
—1.- None of these

https://t.me/mathbytarunsirmepl
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Question 7- What will come 1n the place of the question mark '?' in the

following question?

I 7- feriaa Hﬂﬁqﬂ%‘i‘gb@ld L AT STTTT?
V625 + 676 + 13 + Y7 =+/2500

A. 12117

%JY: Qg 30 B. 12127

3 —£. 12167

@E)E-(QSJB D. 12177
;P__IQ_{ E. None of these

https://t.me/mathbytarunsirmepl
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Question 8- What will come 1n the place of the question mark '?'
in the following question?

T 8- HHfIRga o2 5 w1 g 19" o T 9 H:IT STTU?

5/16 -3/8 -7/32=1/16 -3/4 + ?/32

X _ SR 3w ¢ "y

= =2 IR, 3
2 16x &y 7y \@(3—*1_)(& A. 23
- 20 B. 11
1= 3 C. 12
— =P. 13

E. None of these
https://t.me/mathbytarunsirmepl
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Question 9- What will come 1n the place of the question mark '?'

in the following question?

T 9- FHEATARad I °§ I T<Ig ' oF T UL =T ST

HO
40%0f750-?-;6@+/9/><4=20
KOO‘ X— Iéo:)\o

— 30

https://t.me/mathbytarunsirmepl
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110
120
130
140

None of these
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Question 10- What will come 1n the place of the question mark '?'

in the following question?

Ww%f@d T4 1 9 Torg 2" o ST 9 AT HATEI?

% of OO+55><4=?+2@,495/+3’
400+ 220 -§o= X

A= Sy
— 30

https://t.me/mathbytarunsirmepl
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220
340
320
420

None of these
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Question 11- What will come 1n the place of the question mark '?'

in the following question?
57 11- FeAfciRad T 5 I g 12" oh T I 7 STTW?

\2
440 +? = 5% of 2460 - 190

A. 212500
Y = ¥ =76
7= 896 Hiq 32?315_00 B- 202500
\13 =~ LfSO C. 302500
(5 D. 402500
X )= o
) (HSOJ E. None of these
https://t.me/mathbjftarunsirmepl




SBICLERK 2023 @

et

Question 12- What will come 1n the place of the question mark '?'

in the following question?
57 12- FeAfctRad T 0 U g 12" o T I 7 STTW?

0 +‘?—|—O—|— = —I—ﬁ@/
‘f?\ 190 0 10 4U§

N0
% + 130 = & 0O
600 | 95 A. 025
Sio ¥ = gt 30 B. 0.5
36 s Jil’i:@ﬁ C. 0.6
- 0 D. 0.75

—E_ None of these

https://t.me/mathbytarunsirmepl
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Question 13- A mixture of 330 litres of Milk and water contains 40% of

water. How much water should be added to the mixture so that the

water will be 45% 1n the final mixture?

T 13- 330 e g9 ST AT o5 T2 40% it 21 reror & fopemm et

(T STHT =ITTR U dTier 3ifaw farsor § g 3@ 2 St
457,

A. 20L
B. 15L
30 C. 30L
D. 10L
E. None of these

https://t.me/mathbytarunsirmepl
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|1¥3 3X5~7Q:{Z
1579
10 33*22:555:_330 B
= 61
9= 6x5

= 30L -
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Question 14- A bookshop sells books whose marked price 1s Rs. 600 at a
discount of 15% and gives a pamphlet costing Rs. 60 free with each book.

Even then he makes a profit of 20%. What is his cost price per book?

T 14- Toh ShTITT 600 FTF 3fohe He IATedl TEAhT bl 15% h1 D TSIl 8
3 Jc2ish T&eh o |1 60 T Sl AN SATAT Ueh UFheie o ol 2l O Wi a8
20% T ATH FHHTT & Enecrg\kdoh 3T T {1 &7

Rs 275
Rs 375
Rs 475
REY

None of these

30

SRS

https://t.me/mathbytarunsirmepl
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@ MpP— <+ 600
SPT = &S%%{éoc

= g‘Qi%g

/M/Q/ $SP= QA0-60

= 45 ]Q}Z

%O/ =< H50
|
OO/ #—ggg ¥ 06
Jap
1
= 1805
L
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Question 15- Train A crosses a standing man at a speed of 30 m/s in ‘x’ seconds

while train B crosses a platform of 400 m length in “3x” seconds with a speed of
30 m/s. Length of train B 1s one- third the length of train A. Find the length of

train B
T 15- 7 A Ush TS <h ohl 30 HeU/Tehe i A & 'x' Yehs § IR Hd] & STelfeh o

B 400 T T WIehH ol '3x' Hehe § 30 HIcy/Hehe ah TTfd § IR hidl &l o1 B &l

C_O\

SIS o A ot SIS ol Uah faeTg 21 ¢4 B S Siats I ISl A, 30 m

30 B. 40m
—€. S50m

D. 60m

E.

None of these

https://t.me/mathbytarunsirmepl
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Rs 5000
Rs 4800
Rs 7800
Rs 6800

Wese TS 16- P 3 Q Tk G | ShHTT: 800 TUF 3 600 T o1 FHI9T HLd B

30

Question 16- P and Q invests Rs. 800 and Rs. 600 into a partnership
respectively. After 5 months, P added Rg.200)to his investment. After 4

months, P removes double the amount he added to his investment after
5 months and Q removes the same amount P added after 5 months. If

the profit share of Q 1s Rs.5800 then what is the total profit they had in a

year

5 HEH o1e, P 319 [HaeT 7 200 T S| 4 HEH 916, P 5 He 4 o718 3794
FHIeI=T T SAIST 178 TTRT T ST eIl <t & 3R Q 5 7EH a8 P 5T Siel 71
T IR okl 82T T 81 AT Q T AT f&&mT 5800 ¥4 8, 1 Uah 9 | 35

el AT Tohe T G312
https://t.me/mathbytarunsirmepl
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O P O 9 =F 580 ¢
@Sb@Xﬁ .' 6@())(5 (= T00

000
o | 0%XH Heax T [Tohy Bobd= (49439) 5204

= 3%

https://t.me/mathbytarunsirmepl
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Question 17- A person lends a certain amount of money to Mayank at a
simple interest at the rat Mayank again lends the same
amount to another person at the rate of\l}\% p.a compounded half

Rs 10,000 yearly. If he gets a profit of Rs. 1272 then find out the sum borrowed by

Rs 20,0 Mayank
Rs 30,000 T 17- Teh ST<h Ak Shl 6% Jid I8 shi 2T & HTHUT SITST U Ueh H1d

Rs 40,000 IS YR a7 Bl Gk T & I TIRT ot foreft 3171 =afeh &t 129 i as <
None of these HﬁﬂﬁﬂTﬁ‘m“d%o@ﬁ&d{ﬁWWélﬂﬁBﬁ272E@WWWEﬁﬁT%,

1 HIE G SR AT T8 TR A shifstd C]-\ga/

30

https://t.me/mathbytarunsirmepl
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Question 18- Ajay covered a distance from village A to B on car at 56
km/hr. However he covered the distance from B to A on foot at 8 km/hr.

What 1s his average speed in the whole journey?

T 18- ST HR Y TMid A ¥ B ok okl U 56 ferefi/eier i fd & a2 o 2)
gTcdiieh, € B & A deh ol gl Uaet 8 fehwi/siet ot ifd & o shtar 2| ol am o
SEhT ST T T 27 A. 12 km/hr
| B. 15 km/hr
30 C. 14 km/hr
D. 20 km/hr
E. None of these

https://t.me/mathbytarunsirmepl
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Question 19- What will come 1n the place of the question mark '?" in the
following question?

Er=ISIECN ;r%rﬁ;r%r%g "?' o AT U ST STTTT?

120% 010@20 +20% of/42”5 + 1@50 =7

720901 120% + 425 <01 20% + 750 b1 150% = ?

@
— 9 A. 1044
6ﬁ=*®§_*/’{§ B. 1064
- ZOJ}H 30 C. 1954
_ D. 1074

—E. None of these

https://t.me/mathbytarunsirmepl
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